Quadratics 1

Use

Sketch quadratic

the graph formula
to solve

x?—2x-15=0
State Complete

minimum the square
point & solve

State State
where where
crosses crosses
y-axis x-axis

*If not possible state ‘will not factorise’.



Quadratics 2

Sketch

the graph

Use

State :
quadratic
minimum (x+4)(x+2)=0 formula

point to solve

State

where Complete

the square
State & solve

where
crosses
X-axis

crosses
y-axis



Quadratics 3

Use

Sketch quadratic

the graph formula
to solve

X*+8x+13=0
State Complete

minimum the square
point & solve

State State
where where
crosses crosses
y-axis x-axis

*If not possible state ‘will not factorise’.



Quadratics 4

Use

Sketch quadratic

the graph formula
to solve

X*+8x+16=0
State Complete

minimum the square
point & solve

State State
where where
crosses crosses
y-axis x-axis

*If not possible state ‘will not factorise’.



Quadratics 5

Use
Sketch quadratic

the graph formula
to solve

State Complete

minimum the square
point & solve

State Provide
where mathematical

justitification

crosses of solution

y-axis

*If not possible state ‘will not factorise’.



Quadratics 6

Use

Sketch quadratic

the graph formula
to solve

x> +5x+25=0

State Complete

minimum the square
point & solve

State State
where where
crosses crosses
y-axis x-axis

*If not possible state ‘will not factorise’.



